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14a (-1 m2wn) > 150 (rwwn KY)
Note #1: there are multiplexn»nnT levels of axpv:
1) Anpwva max 2ax (a corpse)
2) ARmIA aN: original source of INDIY, e.. 31, PIY, SINI KOVI
3) ANpva 151 — anything that has come in contact with an ARDIVA IN

Here are some essential rules regarding transference of N
£ D781 052 can only become KpY from contact with an ax;
5 food and liquid can become 80v by contact with an ax or first-level 7511 (“ nwN7”),
food and liquid cannot transmit axmw (123770 liquid can transmit to liquid).
71190 can be a »w25w and w1p can be a 'y237
a oy 51vis someone who has already gone to the mjpn and is waiting for nightfall to become fully 7170
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L.y mwn: two opinions regarding permissibility of “adding” nkmv to mw7p in process of its destruction
a. 02277 0 K227 77 IRMON AR RNVIN IRMY would be disposed with nrmvN 75112 RNVIN
i. Justification: even though Y218 isn’t 9918 RnvN (per v. 1)...
1. 7ax: that only applies to P n
2.837 (version 1): only applies to nmIm P5mM
3.&27 (version2): applies across the board — nonetheless, it is 1322770 XnYN
b. x25pp 77 NV that was »1v1 8Vl would be burnt in a NrMYVN AR2 RNVIYV N
i. /777 37 the 71 here must be metal, becoming an NN Mar »ar (based on v. 2 - Y5n=17n)
1.Note: reason N 11 interpreted it this way is because mention of nn v >area where n"v is unique (nann)
ii. Inference: " holds that liquid is Xnvn food n”nn (that is the wy1'n over n™’s testimony)
I. 1 mwn: n"’s inference from y MwN — MMMV NMIN may be destroyed with nkno MmN (Ynn)
a.’op ‘7. R"N YW1 "1 agree that they must be burnt separately
i. Disagreement (8”1”7): only about burning n"9n with nxnv (YW1’ "1 permits; X" forbids)
II. xn "v’s source
a. Cannot be: R11n '1 — in that case it is RNV+RNY; here it is RPV+INV
b. Cannot be: " — in that case it is )109+8nV; here it is RpV+INV
c.  Answerl: he indeed infers from &1 "1 — which involves a 13277 151 (n"nn they destroyed xnoa Mnv)
i. And:»ov " allows burning nrnon oY NMNY MMIN after noon — both are n"nn MoOR
ii. And: n™ allows burning even when the ynn is 132770 70X
1.Both agree: that the meat in ®1°1n "1’s case was RnV) via a liquid
a) ’o» 7. such NRMV is N"NN re:DVTP
b) »”7: such nRMV is 1312770 re: VTP
d. Answer2 (@75 w7 quoting X197 72): he infers from Ywin> "1/1YHR
i. Reason: ®R11n "1’s case involves a n"nn 79 (n”nn they destroyed ®nva Xnv >no source for this ruling)
1.Source: not n:n mmAn; > allows leaving questionably ®nv barrel exposed — that is Xn73, here it is active
2.Proper source: v:n MmN — " allows saving nmIn wine with orno Y to keep it from “infecting” PN wine
a) Challenge: :X DNV RNADIN — 0V "7 cannot be responding as if n™ inferred from ywiny /8™
i. Reason: he counters from X»in '7’s testimony
ii. Answer: oy "1 misunderstood n"1’s inference — thought it was from ®»in '7’s testimony
b) Then: »ov "7 challenged from ywin’ *1/8" — countering that they agree that they are burnt separately
i. And: the case of the broken barrel is different, in that it involves 1910 T0an
1.Note: the minimal loss of wood involved in making separate fires isn’t reckoned
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